
3rd Grade

Module 2

Lesson 17

Eureka Math 

At the request of elementary teachers, a team of Bethel & Sumner educators 

met as a committee to create Eureka slideshow presentations. These 

presentations are not meant as a script, nor are they required to be used. 

Please customize as needed. Thank you to the many educators who 

contributed to this project!

Directions for customizing presentations are available on the next slide.



Customize this Slideshow
Reflecting your Teaching Style and Learning Needs of Your Students

➢ When the Google Slides presentation is opened, it will look like Screen A.

➢ Click on the “pop-out” button in the upper right hand corner to change the view.
➢ The view now looks like Screen B.

➢ Within Google Slides (not Chrome), choose FILE.

➢ Choose MAKE A COPY and rename your presentation.

➢ Google Slides will open your renamed presentation. 

➢ It is now editable & housed in MY DRIVE.

Screen A “pop-out”

Screen B
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I can estimate sums by rounding and use my 

estimates to solve measurement word problems.



Group Counting (3 mins.)

Threes to 30

Fours to 40  

Sixes to 60 

Sevens to 70  

Eights to 80  

Nines to 90



Sprint: 

Round to the Nearest Ten
(9 mins. total)



Concept Development

Problem 1: Estimate the sum of 362 + 159 

by rounding.

What would my estimate 

be if I rounded my 

numbers to the 

nearest hundred?

Answer: 400 + 200 = 600.



Concept Development

Problem 1: Estimate the sum of 362 + 159 

by rounding.

What would my estimate 

be if I rounded my 

numbers to the

nearest ten?

Answer: 360 + 160 = 520



Concept Development

Problem 2: Analyze the rounded sums of 

three expressions with addends close to the 

halfway point.  

349 + 145 =

352 + 145 =  

352 + 151= 

Take a minute or two to solve these expressions. What do 

you notice about the sums for these problems?

494

497

503



Concept Development

What if we had rounded to the nearest 

hundred like we did in the last problem?  

349 + 145 = (300 + 100)

352 + 145 =  (400 + 100)

352 + 151=   (_____ + _____)

What would that have given us for 

estimates?



Concept Development

Problem 3: Round the sum of 296 + 609.  

Analyze how rounding to the nearest 

hundred is nearly the same as rounding to 

the nearest ten when both addends are 

close to a hundred.  



Concept Development

Problem 3: Round the sum of 296 + 609.  

First round to the nearest ten, then try to 

the nearest hundred.  

What do you notice about your estimates?



Application Problem

A doctor prescribed 175 milliliters of 

medicine on Monday and 256 milliliters 

on Tuesday.  

Estimate how much medicine he 

prescribed both days. 

Precisely how much medicine 

did he prescribe in both days?



Application Problem



Problem Set (5-10 mins.)



Student Debrief

What were some of your observations about 

Problem 1(a)? 

What did the closest estimates have in 

common?  Talk to a partner: Which way of 

rounding in Problem 2 gave an estimate closer 

to the actual sum?  

How does estimation help you check if your 

answer is reasonable?  Why might noticing how 

close the addends are 



Exit Ticket


